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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
EHE R
= 1 202, 139, 032
JE T
= 1 3,770, 947
P AT
= 1 3,770, 947
B S AVHE T O ALE]
= 1 578, 760
b TE b Cash ERIRY L&)
= 1 2, 650, 347
FEIA O=27) 45 150, 000m3 AT
= 1 541, 840
Mgt R T
= 1 51, 796, 832
f;IZIJ_;
Ry 0 0
P R A AL BR WEVEE 2m<L<b6m i LHHL 10

00m3LL k= FE{LAFRINE 100kg/m3)

m3 0 4,068 0

P R A AL BR W EVEE 5m<L=8m ffi LHAHL 10
00m3LL k= FE{LAHRINE 100kg/n3

m3 0 4,594 0
TR A AL B SRTEE Sm<L=10m fi LI 1
000m3LL I [E{LAF RN & 100kg/!
3
m3 0 4, 555 0
&% T (ICT)
= 1 51, 796, 832
PRERA LR (ICT) WREE 2m<L=5m fii LHAM 10

00m3LL k= FE{LAERINE 289kg/m3)

m3 605 7,942 4,804, 910

R IR A ALER (ICT) W EVEE 5m<L=8m ffi LHAHL 10
00m3LL k= FE{LA ERINE 289kg/m3)

m3 2,344 8,371 19, 621, 624
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T E (A5
R IR A ALER (ICT) W EVEE 8m<L=10m fii LHIKEL 1
000m3LL I FELA NS 289kg/!
3
m3 2,229 8, 348 18, 607, 692
R IR A ALER (ICT) WEVEE 2m<L<b6m i LHHL 10
00m3LL k= FE{LA ERINE 289kg/m3)
(1B 7K BE)
= 1 7, 466, 424
E VI AR E
= 1 1, 296, 182
AN =h L
= 1 144, 937, 339
EE LT
= 0 0
EE LT
= 1 2,294, 870
fEZE AT (1ICT)
= 1 2, 080, 691
PTFI B IET
= 1 130, 834, 677
¥ Layy)-}h 18-8-40 (F47) BWJE 10cm
m2 440 3,104 1, 365, 760
av)-p PIZEME 5.9m PNZE@E S 6.3m 24
-12-25(20) (F¥F) —REEBAE 200
=M P o e
m3 2,510 27, 417 68, 816, 670
A SD345 D13
t 0 142, 014 0
A SD345 D13
t 9.73 146, 793 1,428, 295
ERAR SD345 D16~25
t 0 197, 394 0
ERAR SD345 D16~25
t 72.52 202, 312 14, 671, 666
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THEX Sy« TH - FERI - HH50 MoK T B B G AT & # T (GEEM)

R SD345 D29~32

t 0 141, 108 0
R SD345 D29~32

t 33.36 145, 966 4, 869, 425
A5 SD345 D38

t 0 143, 941 0
A5 SD345 D38

t 17. 66 147, 712 2, 608, 593
Tl — AT

= 1 18, 880, 320
SR 40kN/m2<f = 80kN/m2[120<t =250¢

m]

= 1 9,742, 970
SR £=80kN/m2[t=250cm]

= 1 863, 500
iz BRR Y NLE

= 1 6, 569, 720
H Hi VB HRME R B HiA t=20

m2 149 4, 540 676, 460
1EZKAR FF (L™ ) 200 X5

m 134 2,547 341, 298

IR EERE T

= 1 2,834, 765
av)-p 24-12-25(20) (% JF)

m3 33 30, 305 1, 000, 065
Tl — AT

= 1 1, 506, 880
H Hi VB HRME R B HiA t=20

m2 2 4, 540 9, 080
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T (GEEM)
A SD345 D13
t 0 142, 022 0
A SD345 D13
t 2.17 146, 885 318, 740
Bhk 1T
= 1 6,892, 336
Bk it P K OV SER RIS ey 1:3
=G
m2 490 8, 669 4, 247, 810
Bk it P R OV RER TR eV 1
23w (TERRED)
m2 51 5, 386 274, 686
Bk it P R OV ER TR eV 1
23 EE (ERRED)
m2 440 5, 386 2, 369, 840
% T
= 1 1,633,914
RImE T
= 1 1,633,914
ZRFE AR B
= 1 1,633,914
B T HE
= 1 202, 139, 032
BTl TE:
= 1 32, 793, 721
B ST ¢
= 1 13, 536, 828
TR
= 1 1,695, 313
T RR A oy PR ST A B
= 1 1,695, 313
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THEX Sy« TH - FERI - HH50 H T B B G AT & | T (GEEM)
e 2y
= 1 6,811, 225
ER VLY UT 4 #z+
Y 0 0
TRV #z+
= 1 609, 180
KRIREEAL B
= 1 6, 202, 045
Htre m
= 1 3,327, 044
B M R FEART IR
T 1 53, 738 53, 738
FNAMG ) b R
ik 1 6,671 6,671
FE AR B A
= 1 110, 302
ICTVE ARG EE
= 1 15, 442
PREFE B (ICT)
= 1 56, 112
VAT LRI (ICT)
= 1 1, 606, 732
ST T » 3R ITa% it -4
DYERLE A (ICT)
= 1 1,478, 047
BUGERRYCEE (K5 1)
= 1 1,703, 246
HimE R (FE L)
= 1 19, 256, 893
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
Wi
= 1 234, 932, 753
BTk X=giiv oy
= 1 67, 347, 653
R 5]
= 1 302, 280, 406
— e
= 1 43, 889, 594
T HAlik
= 1 346, 170, 000
TH & B 2 %8
= 1 34, 617, 000
TG
= 1 380, 787, 000
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